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EHEERNRE STAEERIRFE (B IE R ) P RIS st

% i1 Mg - KT Bif # B B @ ® #® wmE
E#ER A 6,199, 530
RETET 6,199, 530
WIBgER &Y 6,199, 530
WIBgER &Y 6,007, 160
REtETE 130, 600
1-1 REHETE 1.00 130, 600 130, 600
=
EEi 1,213, 260
1-2 FA - BREHRE 1.00 122,100 122,100
Hh
1-3 T EHENEERN 1.00 489, 100 489, 100
R
1-4 BREMEGHE 1.00 602, 060 602, 060
=
BIER X DM 284, 000
1-5 LEEER X Dt 2.00 142, 000 284, 000
T—2R
REKDRE 2,794, 200
1-6 kiREDORELDRE 2.00 113, 050 226, 100
T—2R
-1 ZHREORELDRE 2.00 269, 450 538, 900
T—2R
1-8 BRREORELDRE 2.00 1,014, 600 2,029, 200
T—2R




EHEERNRE STAEERIRFE (B IE R ) P RIS st

£ kg B - BIKHE B % B B & EB I
BERXDEE 761, 800
1-9 MEHR=EETE 2.00 111, 600 223, 200
r—2
1-10 MEITEHETE 2.00 117,900 235, 800
r—2
1-11 BERKXDEE 2.00 151, 400 302, 800
r—2
B 1 B 103, 400
1-12 E@EERK 2.00 51,700 103, 400
®
523 209, 800
1-13 S|REZ/ERK 1.00 209, 800 209, 800
=
W& - |E 329, 400
1-14 & - |/E ERTHEIE. FREHREIE. ZREEBREIER 3.00 109, 800 329, 400
[=]
sk 180, 700
1-15 B& 1.00 180, 700 180, 700
=®
EEREE 192,370
EERARE 54,970
1-16 EHXALE 1.00 54,970 54,970
%
523 100, 000
1-17 ZERRRE 1.00 100, 000 100, 000
%




EHEERNRE STAEERIRFE (B IE R ) P RIS st

& kg Hg - BT B % =2 B & % =
REE 37, 400
1-18 EIREREE 1.00 37, 400 37, 400
=
EEIZEE 1,572,454
BEXEHE 1,572,454
HRAE 1,572,454
HRAE 1,411,957
Bl =2 fE 243,514
2-1 FHE#EfE 1.00 163, 721 163, 721
=®
2-2 HEMIEMR QEERY) 1.00 79, 793 79,793
=
HihERAE 548, 000
2-3 BEHMAZE (BL) 500. 00 120 60, 000
m2
2-4 BKAE FKE10mR 7 1, 600. 00 305 488, 000
m2
MR - & 620, 443
2-5 EEFK 1.00 620, 443 620, 443
=
EEREE 160, 497
523 15, 000
2-6 EBERREE 1.00 15, 000 15, 000
=




BHERERRE

THAEE R AT E (RIEHX) BRIE SR Et
% i1 L N Bify B B i ® #® wmE
Ze#H 145, 497
2-1 REERM 1.00 145, 497 145, 497
=




EHEERER STAEERIRFE (B IE R ) P RIS st

4 g B - KT Bifg % = L] ® = W=
BRI 6,007,160 + 192,370 6,199, 530
EEAGE 6,007, 160
BE#RE 192, 370
T DA IR { 6,007,160 x 53.85% ( 35% + (1 — 35%) ) 3,234,855
e 2 i 6,199,530 + 3,234,855 9,434,385
—REERF 9,434,385 x 53.85% ( 35% = (1 — 35%) ) — 4,801 5,075, 615
KBS 9,434,385 + 5,075, 615 14,510, 000
EENEE 1,572, 454
ERE 1,572,454 x 80.7% — 1,424 1,267,546
MEEEE 1,572,454 + 1,267,546 2,840, 000
BB E TS 2, 840, 000
B EHEE 14,510,000 + 2, 840, 000 17, 350, 000
HBEREALE 17,350,000 x 10.00% 1,735,000
FEIEE 19, 085, 000




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

H5 :1-1
B F  BRETETE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 0.50 41, 600. 00 20, 800
& it YEZREN - 1.00K 130, 600. 00 130, 600
&5 :1-2
&% FIA - BAEGRTE 1HhEL Y
%4 7 R - AR R B3 = B & # # B &
EX: T TC D)
A 0.50 58, 600. 00 29, 300
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 41, 600. 00 41, 600
& it YE2E:H ¢ 1. 003 & 122, 100. 00 122,100
&5 :1-3
B . L EE R BN 1HhEL Y
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 0.50 58, 600. 00 29, 300
A (A)
A 1.00 51, 200. 00 51, 200
HEm (C)
A 4.50 32, 800. 00 147, 600
Hftt &
A 9.00 29, 000. 00 261, 000
& i YEZREN - 1.00H 5 489, 100. 00 489, 100




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

H5:1-4
B KRERME 1RHY
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 2.20 58, 600. 00 128, 920
A (A)
A 4.30 51, 200. 00 220, 160
A (B)
A 1.90 41, 600. 00 79, 040
HEm (C)
A 3.80 32, 800. 00 124, 640
Hftt &
A 1.70 29, 000. 00 49, 300
& i YEZREN - 1.00K 602, 060. 00 602, 060
&5 :1-5
275 LEBHREER KDL 15—2%Y
% 7 R - AR R B3 H 2 B & # W = B &
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.50 32, 800. 00 49, 200
& it E2EH - 1.005—R 142, 000. 00 142, 000




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

&5 :1-6
B KEEREOREMHDEBE 15—2%Y
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 0.15 58, 600. 00 8,790
A (A)
A 0.30 51, 200. 00 15, 360
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
Hftt &
A 0.50 29, 000. 00 14, 500
& i E2EH - 1.005—R 113, 050. 00 113, 050
&H5 11
B EHREOREHDEBE 15—2%Y
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 0.35 58, 600. 00 20,510
A (A)
A 0.70 51, 200. 00 35, 840
A (B)
A 2.50 41, 600. 00 104, 000
HEm (C)
A 2.00 32, 800. 00 65, 600
Hftt &
A 1.50 29, 000. 00 43, 500
& i E2EH - 1.005—R 269, 450. 00 269, 450




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

&5 :1-8
& BRREOREHDEBE 15—2%Y
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 5.00 58, 600. 00 293, 000
A (A)
A 7.00 51, 200. 00 358, 400
A (B)
A 4.00 41, 600. 00 166, 400
HEm (C)
A 6.00 32, 800. 00 196, 800
& i E2EH - 1.005—R 1,014, 600. 00 1,014, 600
2.1-9
& BMEREEE 15—2%Y
% 7 R - AR R B3 = B & # & B &
A (B)
A 0.50 41, 600. 00 20, 800
HEm (C)
A 1.00 32, 800. 00 32, 800
Hftt &
A 2.00 29, 000. 00 58, 000
& i E2EH - 1.005—R 111, 600. 00 111, 600
5. 1-10
& METIEEE 1r—24Y
% 7 R - AR R B3 = B & # & B &
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
Hftt &
A 1.50 29, 000. 00 43, 500
& i E2EH - 1.005—R 117, 900. 00 117,900




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

5. 1-11
2 BERXOEE 15—2%Y
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 41, 600. 00 41, 600
& i E2EH - 1.005—R 151, 400. 00 151, 400
£ :1-12
& REER 1m&Y
%4 7 R - AR R BARE = i & # # B &
A (B)
A 0.50 41, 600. 00 20, 800
HEm (C)
A 0.50 32, 800. 00 16, 400
Hftt &
A 0.50 29, 000. 00 14, 500
& i YEZREN « 1. 004K 51, 700. 00 51,700
5. 1-13
B REEER 1RHY
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& it YEZRED - 1.00 209, 800. 00 209, 800




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

£S5 . 1-14
L% %S - |E SANREIE. PRBSIE. SREE1E H=ED)
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
& it E%8eH - 1.00E 109, 800. 00 109, 800
5 . 1-15
L BE =)
%4 7 R - AR R B3 = B & # # B &
EX: T TC D)
A 1.50 58, 600. 00 87,900
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 41, 600. 00 41, 600
& it EZREN - 1.00 180, 700. 00 180, 700
S . 1-16
&% BHARE 1%y
% 7 R - AR R B3 = B & # & B &
EHRARE
= 1.00 54, 970. 00 54,970
& it YEZRED - 1.00 54, 970. 00 54,970
5 . 1-17
& EBARRE 1RHY
% 7 R - AR R B3 = B & # & B &
EBRRAE
= 1.00 100, 000. 00 100, 000
& it YEZRED - 1.00K 100, 000. 00 100, 000




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

‘S :1-18
A EIEREREE 14y
£ 7 R - KT B = i & | W E B &
EZAYVTRE
I 1.00 37, 400. 00 37, 400
& it 1YEZHEH - 1.00K 37, 400. 00 37, 400
H5:2-1
B FTEER 14y
£ 7 R - BAK~TiE B = i & | W E B &
B FEHE
A 0.50 48, 000. 00 24,000
B EHER
A 1.00 42, 200. 00 42, 200
B E A
A 2.00 32, 400. 00 64, 800
REBF
A 1.00 31, 100. 00 31,100
EHARE FEEDY
% 1.00 162, 100. 00 1, 621
& it 1YE%HEH - 1.00K 163, 721.00 163, 721
55 :2-2
B BMERR QEESY) 14y
£ 7 R - KT B = i & | W E B &
REMHENE
A 2.00 25, 400. 00 50, 800
K>y 2tiE
=] 1.00 28, 203. 00 28,203 4.70H / 8H
AN 2H0%
% 1.00 79, 003. 00 790
& B 1YE%HEH - 1.00K 79, 793. 00 79, 793




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

H5:2-3
&% BfRAE (8L) 1BEY (1240m2)
£ 7 R - KT B = BO(f & | W E B &
REE >4 kN2 2L
=] 1.00 3, 330.00 3,330/2.00H / 8H
B E A
A 2.00 32, 400. 00 64, 800
REBF
A 1.00 31, 100. 00 31,100
s 15PSEY
=] 1.00 48, 320. 00 48, 320 8H
M 2H0%
% 1.00 147, 550. 00 1,475
= g YEZRES - 1, 240.00m2 120. 00 149, 025
H5 :2-4
& BKIRAE KEIOMEKH 1BEY (1200m2)
£ 7 R - KT B = BO(f & | W E B &
REE >4 kN2 2L
=] 1.00 3, 330.00 3,330/2.00H / 8H
B E A
A 1.00 32, 400. 00 32, 400
REBF
A 1.00 31, 100. 00 31,100
B (FA/13—) 10mk 78
A 2.00 49, 500. 00 99, 000
BKTHEE (A4 /13—) 10mK 5i
A 2.00 49, 500. 00 99, 000
rt@my g
A 2.00 25, 200. 00 50, 400
s 15PSEY
=] 1.00 48, 320. 00 48, 320 8H
Mo 2H0%
% 1.00 363, 550. 00 3,635
= g YEZHES - 1,200.00m2 305. 00 367,185




K& -ET/\vr—2

THAFER R E (BB X) PR SR et

H5 :2-5
B |MESER 14y
2 Lo R - KT B = B M € &8 W E w %
B FEHE
A 1.50 48, 000. 00 72,000
I E AR
A 3.50 42, 200. 00 147,700
RIS AT
A 4.50 32, 400. 00 145, 800
REBF
A 8.00 31,100. 00 248, 800
EHARE FHIEEDY
% 1.00 614, 300. 00 6, 143
& it 1YEZHEH - 1.00K 620, 443. 00 620, 443
HS5 :2-6
2 EBHRRE 14y
2 Lo R - KT B = B M € &8 W E w %
(BRRRE
= 1.00 15, 000. 00 15, 000
& it 1YE%HEH - 1.00K 15, 000. 00 15, 000
&H5:2-1
& BREESRMR 14y
2 Lo R - KT B = B M € &8 W E w %
ZEERM FRP D 180PSZ%!
=] 1.00 144, 774.00 144,774/6.00H / 8H
AN 21K0Y%
% 0.50 144, 774.00 723
& B 1YE%HEH - 1.00K 145, 497. 00 145, 497




